Chapter 13 Review Questions

Questions:


1.
Money functions as: 

A)
a store of value.    


B)
a unit of account.    


C)
a medium of exchange.    


D)  all of the above. 

2.
If you write a check on a bank to purchase a used Honda Civic, you are using money primarily as:

A)
a medium of exchange.    


B)
a store of value.    


C)
a unit of account.    


D)
an economic investment. 

3.
The largest component of the money supply (M1) is: 

A)
gold certificates.    


B)
checkable deposits.    


C)
currency in circulation.    


D)
travelers’ checks. 

4.
In the United States, the money supply (M1) is comprised of: 

A)
coins, paper currency, and checkable deposits. 

B)
currency, checkable deposits, and Series E bonds. 

C)
coins, paper currency, checkable deposits, and credit balances with brokers. 

D)
paper currency, coins, gold certificates, and time deposits. 

5.
Money market deposit accounts are included in: 

A)
M1 only.    


B)
both M1 and M2.    


C)
both M2 and M3.    


D)
M3 only. 

6.
(Consider This)   Credits cards are:

A)
the fastest growing component of the M1 money supply.

B)
near-monies that are part of the MZM money supply but not part of the M2 or M1 money supplies.

C)
not money, officially defined.

D)
also known as time deposits.  

7.
The primary purpose of the legal reserve requirement is to: 

A)
prevent banks from hoarding too much vault cash. 

B)
provide a means by which the monetary authorities can influence the lending ability of commercial banks. 

C)
prevent commercial banks from earning excess profits. 

D)
provide a dependable source of interest income for commercial banks. 
	Require Reserve Percent (Ratio)
	checkable (or Total) Deposit
	Actual Reserves
	Excess Reserves

	W
	$100,000
	$10,000
	$0

	8%
	X 
	$20,000
	$12,000

	12%
	$200,000
	Y
	$8,000

	20%
	$300,000
	$70,000
	Z



8.
Refer to row 1 in the above table.  The number appropriate for space W is:

A)
4.   


B)
6.   


C)
10.   

D)
12.

9.
Refer to row 2 in the above table.  The number appropriate for space X is:

A)
$20,000.   


B)
$60,000.   


C)
$200,000.   


D)
$100,000.

10.
Refer to row 3 in the above table.  The number appropriate for space Y is:

A)
$24,000.   


B)
$32,000.   


C)
$48,000.   


D)
$96,000.
Answers:

1.  D

2.  A

3.  C
4.  A

5.  C

6.  C
7.  B

8.  C

9.  D

10.  B
